
Q.1 उस िवकʙका चयन करŐ िजसमŐ दो संƥाएँ एक-दूसरे से उसी Ůकार संबंिधत हœ जैसे िनɻिलİखत
संƥा-युƵ की दो संƥाएँ एक-दूसरे से संबंिधत हœ।

25 : 343

Ans 1. 24 : 216

2. 29 : 121

3. 30 : 729

4. 34 : 510

Question ID : 65497843184

Status : Answered

Chosen Option : 1

Q.2 िकसी िनिʮत कूट भाषा मŐ, 'FIXED' को 'XIFED' िलखा जाता है, और 'MOUSE' को 'USOME' िलखा
जाता है। उसी भाषा मŐ 'GAMBIT' को कैसे िलखा जाएगा?

Ans 1. TGMIBA

2. TMGIBA

3. TIMGAB

4. TMIGBA

Question ID : 65497843983

Status : Not Answered

Chosen Option : --

Q.3 िनमनांिकत पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
उसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

8 55 56
91 28 2 68 20 11 27 ? 7
13 17 9

Ans 1. 24

2. 20

3. 18

4. 30

Question ID : 65497842479

Status : Answered

Chosen Option : 1
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Q.4 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है जैसे दूसरा पद पहले पद से संबंिधत है
।

QUICKER : TGMEKWS ::REPORTS : ?

Ans 1. UVTRRHT

2. UVTQRGT

3. USVQRGT

4. VUTQRGS

Question ID : 65497842972

Status : Answered

Chosen Option : 2

Q.5 अƗरो ं का वह संयोजन चुनŐ जो िनɻिलİखत ŵंृखला के įरƅ ̾थानो ं मŐ Ţिमक ŝप से रखे जाने पर
ŵंृखला पूणŊ हो जाएगी?

P Q _ Q P P Q R _ P P Q R Q _ P Q R Q _

Ans 1. P Q R P

2. R Q P P

3. P P R Q

4. Q R P P

Question ID : 65497843986

Status : Marked For Review

Chosen Option : 2

Q.6 उस सही िवकʙ का चयन करŐ जो िदए गए शɨों को उसी Ţम मŐ दशाŊता है िजस Ţम मŐ वे अंŤेजी
शɨकोश मŐ होते हœ।

1. Speaking
2. Standardize
3. Southern
4. Stampede
5. Spacious
6. Sovereignty

Ans 1. 3, 4, 6, 5, 1, 2

2. 3, 6, 5, 1, 4, 2

3. 3, 6, 2, 4, 1, 5

4. 3, 2, 6, 1, 4, 5

Question ID : 65497844182

Status : Answered

Chosen Option : 2
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Q.7 यिद '@' का अथŊ 'जोड़' है, '%' का अथŊ 'गुणा' है, '$' का अथŊ 'भाग' है और '#' का अथŊ 'घटाना' है, तो
िनɻिलİखत ̺यंजक का मान ǒात कीिजए।

126 $ 7 % 3 @ 19 # 21

Ans 1. 4

2. 23

3. 52

4. 18

Question ID : 65497842582

Status : Answered

Chosen Option : 3

Q.8 एक िनिʮत कूट भाषा मŐ, 'GALLERY' को '1422424103650' िलखा जाता है। उसी भाषा मŐ,
'NOSTALGIA' कैसे िलखा जाएगा?

Ans 1. 2830204222414184

2. 2830384022414182

3. 2832384222416182

4. 2830384022614362

Question ID : 65497843176

Status : Answered

Chosen Option : 2

Q.9 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामाɊ ŝप से ǒात तȚो ं से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िन̽कषŘ मŐ से कौन
से िनʺषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
कुछ ˋूल, कॉलेज हœ।
सभी कॉलेज, िवʷिवȨालय हœ।

िनʺषŊ:
I. सभी िवʷिवȨालय, ˋूल हœ।
II. कुछ िवʷिवȨालय, कॉलेज हœ।

Ans 1. केवल िनʺषŊ II अनुसरण करता है।

2. या तो िनʺषŊ I या II अनुसरण करता है।

3. दोनों िनʺषŊ अनुसरण करते हœ।

4. केवल िनʺषŊ I अनुसरण करता है।

Question ID : 65497842575

Status : Answered

Chosen Option : 4
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Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843189

Status : Answered

Chosen Option : 3

Q.11 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

361, 323, 285, 247, ?

Ans 1. 215

2. 227

3. 232

4. 209

Question ID : 65497842475

Status : Answered

Chosen Option : 4
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Q.12

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843194

Status : Answered

Chosen Option : 1

Q.13 िकसी िनिʮत कूट भाषा मŐ, ‘jig fig vic’ का अथŊ 'I love India' है और ‘re dig fig lic vic’ का अथŊ 'I
like culture of India'है। ‘love’ के िलए िनɻिलİखत मŐ से िकस कूट का Ůयोग िकया गया है?

Ans 1. fig

2. lic

3. jig

4. vic

Question ID : 65497842470

Status : Answered

Chosen Option : 3
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Q.14

Ans 1.

2.

3.

4.

Question ID : 65497842993

Status : Answered

Chosen Option : 4

Q.15 राघव, मनŮीत, सुनैना, Ůाकृत, वेिदका और अरवा एक गोल मेज के पįरत: इसके कŐ ū की ओर मुख
करके बैठे हœ। राघव, Ůाकृत के बाएं दूसरे ̾थान पर है। मनŮीत, सुनैना की बायी ंओर ठीक बगल मŐ बैठा
है। अरवा, वेिदका के दायŐ दूसरे ̾थान पर है। राघव और मनŮीत के बीच दोनो ं छोर से समान संƥा मŐ
ʩİƅ हœ। सुनैना के बायŐ तीसरे ̾थान पर कौन बैठा है?

Ans 1. अरवा

2. वेिदका

3. राघव

4. Ůाकृत

Question ID : 65497844089

Status : Answered

Chosen Option : 1

Q.16 चार अƗर-समूह िदए गए हœ, िजनमŐ से तीन िकसी न िकसी Ůकार से संगत हœ और एक असंगत है। उस
असंगत अƗर-समूह का चयन करŐ।

Ans 1. SXC

2. FKP

3. LQJ

4. HLP

Question ID : 65497842466

Status : Answered

Chosen Option : 3
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Q.17 गिणतीय िच˥ो ं के सही संयोजन का चयन करŐ जो िनɻिलİखत समीकरण को संतुिलत करने के िलए *
िच˥ो ं को Ţिमक ŝप से बदल सकता है।

22 * 66 * 33 * 11 * 44 * 0

Ans 1. +, ÷, −, ×, =

2. ×, ÷, +, −, =

3. +, ÷, ×, −, =

4. ÷, +, ×, −, =

Question ID : 65497844096

Status : Answered

Chosen Option : 3

Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842485

Status : Answered

Chosen Option : 3
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Q.19 यिद ˢाित के िपता उस िदʩा के नाना हœ, जो िक माɊा की पुũी है, तो माɊा के पित के िपता का िदʩा
से Ɛा संबंध है?

Ans 1. िपता

2. दादा

3. मामा

4. चाचा

Question ID : 65497844088

Status : Not Answered

Chosen Option : --

Q.20 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िचɎ (?) के ̾थान पर आ
सकती है।

12, 38, 116, 350, ?

Ans 1. 1012

2. 986

3. 916

4. 1052

Question ID : 65497842577

Status : Answered

Chosen Option : 4

Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844102

Status : Answered

Chosen Option : 3

Q.22 िवनीत, Ůतीकऔर मयंक के बीच कुल ₹2,95,000 की रािश इस Ůकार बांटी जानी है िक िवनीत को
मयंक से आधी रािश िमले और Ůतीक को िवनीत से ₹25,000 कम िमले। िवनीत को िकतनी रािश
िमलेगी?

Ans 1. ₹80,000

2. ₹85,000

3. ₹70,000

4. ₹55,000

Question ID : 65497842983

Status : Answered

Chosen Option : 1
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Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844099

Status : Answered

Chosen Option : 3

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842585

Status : Answered

Chosen Option : 1
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Q.25 िदए गए िवकʙों मŐ से उस अƗर-समूह को चुिनए जो िनɻिलİखत ŵंृखला मŐ Ůʲवाचक िचɎ (?) के
̾थान पर आ सकता है।

PGF, QJK, RMP, SPU, ?

Ans 1. RTZ

2. TSZ

3. USX

4. STY

Question ID : 65497842565

Status : Answered

Chosen Option : 2

Q.1 कैɛाइिसनोइड्स, कैरोटीनॉयड, फेनोिलƛऔर िवटािमन िनɻिलİखत मŐ से िकस खाȨ पदाथŊ मŐ पाए
जाने वाले Ůमुख रसायन हœ?

Ans 1. मूली

2. गाजर

3. लहसुन

4. िमचŊ

Question ID : 65497843004

Status : Answered

Chosen Option : 2

Q.2 कŐ ūीय बजट 2020-2021 के अनुसार, 1 जनवरी, 2021 तक बœक ऋण वृİȠ ______% थी।
Ans 1. 6.7

2. 5.2

3. 5.9

4. 7.1

Question ID : 65497844109

Status : Not Answered

Chosen Option : --

Q.3 िवʷ ˢा˖ संगठन Ȫारा िकस िदन को हाथ ˢǅता िदवस के ŝप मŐ घोिषत िकया गया है?

Ans 1. 21 जुलाई

2. 18 अगˑ

3.  5 मई

4. 14 जून

Question ID : 65497842595

Status : Not Answered

Chosen Option : --

Section : General Awareness

CICK TO DOWNLOAD : SSC CGL TIER-1 PDF NOTES

https://sscportal.in/study-kit/cgl
https://sscportal.in/ebook


Q.4 िनɻिलİखत मŐ से कौन सा पवŊत भारत और नेपाल के बीच है?

Ans 1. मकालु

2. कंचनजंगा

3. धौलिगरी

4. मनाˠु

Question ID : 65497842602

Status : Answered

Chosen Option : 2

Q.5 िनɻ मŐ से कौन-सा रोग दूिषत जल पीने से होता है?

Ans 1. हैज़ा

2. सूखा रोग

3. एनीिमया

4. ˋवŎ

Question ID : 65497843002

Status : Answered

Chosen Option : 1

Q.6 नाइटŌ ोजन का परमाणु Ţमांक िकतना होता है?

Ans 1. 6

2. 8

3. 7

4. 5

Question ID : 65497844114

Status : Marked For Review

Chosen Option : 3

Q.7 Šंडŝ जलŮपात िनɻिलİखत मŐ से िकस नदी के िकनारे İ̾थत है?

Ans 1. सुवणŊरेखा

2. महानदी

3. सोन

4. दामोदर

Question ID : 65497844116

Status : Not Answered

Chosen Option : --

Q.8 िनɻिलİखत मŐ से कौन-सी अिŢ̾टलीय ठोसो ं(amorphous solids) की िवशेषता है?

Ans 1. संलयन की एक िनिʮत और िविशʼ एȺैʙी

2. एक िनिʮत िवशेष Ǜािमतीय आकार

3. तेज और िविशʼ तापमान पर िपघलना

4. तापमान की रŐज पर धीरे-धीरे मृदुकरण

Question ID : 65497842495

Status : Not Answered

Chosen Option : --
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Q.9 आिथŊक सवőƗण 2021 के अनुसार, िनɻिलİखत मŐ से िकस राǛ मŐ 2015-16 से 2019-20 तकˢा˖
बीमा वाले पįरवारो ं मŐ 12% की कमी आई है?

Ans 1. पिʮम बंगाल

2. असम

3. िबहार

4. िसİſम

Question ID : 65497842997

Status : Answered

Chosen Option : 1

Q.10 लिलता ______ के लोक संगीत का एक ŝप है।
Ans 1. मȯ Ůदेश

2. महारा Ō̓

3. गुजरात

4. राज̾थान

Question ID : 65497842489

Status : Answered

Chosen Option : 1

Q.11 िनɻिलİखत मŐ से िकसने माचŊ 2021 मŐ तीसरी इंिडयन Ťांड Ůीƛ मीट मŐ भाला फŐ क ˙धाŊ मŐ रा Ō̓ ीय
įरकॉडŊ बनाया?

Ans 1. िविपन कसाना

2. िशवपाल िसंह

3. नीरज चोपड़ा

4. देवŐū झाझįरया

Question ID : 65497842613

Status : Answered

Chosen Option : 3

Q.12 भारत मŐ, लœͤिगक अपराधो ं से बालको ं का संरƗण (POCSO) अिधिनयम, ______ बालकों के िहतो ं की
रƗा करते Šए लœͤिगक हमले, लœͤिगक उȋीड़न के अपराधो ंऔर अʶील सािहȑ से बालकों का संरƗण
करने के िलए एक ʩापक कानून है।

Ans 1.  2006

2.  2010

3.  2012

4.  2008

Question ID : 65497843216

Status : Answered

Chosen Option : 1
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Q.13 संिवधान सभा को भारतीय ˢतंũता अिधिनयम, 1947 की धारा ______ Ȫारा माɊता दी गई थी।
Ans 1.  6(2)

2.  12(2)

3.  10(1)

4.  8(1)

Question ID : 65497842511

Status : Not Answered

Chosen Option : --

Q.14 Which of the following is a foreign bank operating in India as of 31st May 2021?

Ans 1. ICICI Bank Ltd

2. Axis Bank Ltd

3. HDFC Bank Ltd

4. BNP Paribas 

Question ID : 65497843198

Status : Answered

Chosen Option : 4

Q.15 िनɻिलİखत भारतीय संगीतकारो ं मŐ से कौन िमकी हाटŊ, िसिकŝ अदेपोजू और िजयोवानी िहडाʎो के
साथ 'ɘैनेट डŌ म' नामक बœड का िहˣा था, िजसके पहले एʛम को सवŊŵेʿ िवʷ संगीत एʛम के िलए
1992 Ťैमी अवाडŊ िमला, जो इस ŵेणी का पहला Ťैमी था?

Ans 1. रिव शंकर

2. जािकर Šसेन

3. भीमसेन जोशी

4. हįरŮसाद चौरिसया

Question ID : 65497843214

Status : Answered

Chosen Option : 1

Q.16 िनɻिलİखत मŐ से कौन 'द कोएिलशन इयसŊ (The Coalition Years)' पुˑक के लेखक हœ?
Ans 1. Ůणब मुखजŎ

2. केआर नारायणन

3. ǒानी जैल िसंह

4. ए पी जे अɨुल कलाम

Question ID : 65497844122

Status : Answered

Chosen Option : 1
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Q.17 Which of the following techniques can be used for reducing the total dissolved solids
(TDS) in water?

(1) Ion Exchange
(2) Distillation
(3) Carding

Ans 1. Only 3

2. Only 1

3. Both 2 and 3

4. Both 1 and 2

Question ID : 65497843203

Status : Answered

Chosen Option : 3

Q.18 लाला हरदयाल िनɻिलİखत मŐ से िकस संगठन से जुड़े थे?

Ans 1. इंिडयन इंिडपŐडŐस लीग

2. ग़दर पाटŎ

3. इंिडयन होम ŝल सोसाइटी

4. ˢराज पाटŎ

Question ID : 65497842605

Status : Answered

Chosen Option : 2

Q.19 िनɻिलİखत मŐ से कौन सा महासागर का सबसे उथला भाग है जो 1° या उससे भी कमऔसत Ůवणता
दशाŊता है?

Ans 1. महासागरीय गहराइयाँ

2. गहरा समुū तल

3. महाȪीपीय शेʚ

4. महाȪीपीय ढाल

Question ID : 65497842502

Status : Answered

Chosen Option : 4

Q.20 'फतोपाŊ जũ (Fatorpa Zatra)' भारत के िकस राǛ मŐ मनाया जाता है?

Ans 1. गोवा

2. मȯ Ůदेश

3. िहमाचल Ůदेश

4. केरल

Question ID : 65497842591

Status : Answered

Chosen Option : 3
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Q.21 ŵी गुŝ गोिबंद िसंह की मृȑु के बाद, िसखों ने बंदा बहादुर के नेतृȕ मŐ ______ के İखलाफ िवūोह
िकया था।

Ans 1. मराठों

2. मुग़लों

3. अंŤेजों

4. गोरखाओं

Question ID : 65497842503

Status : Answered

Chosen Option : 2

Q.22 िनɻिलİखत मŐ से िकसे सरˢती सʃान, 2020 के िलए नामांिकत िकया गया था?
Ans 1. मनोज दास

2. Ůितभा राय

3. मिणशंकर मुखजŎ

4. शरणकुमार िलंबाले

Question ID : 65497843013

Status : Answered

Chosen Option : 4

Q.23 िनɻिलİखत मŐ से िकसने पुŜष एकल ŵेणी मŐ ऑल इंƸœड ओपन बैडिमंटन चैİɼयनिशप 2020 जीती
थी?

Ans 1. एंडसŊ एंटोɌेन (Anders Antonsen)

2. चाउ टीएन-चेन (Chou Tien-chen)

3. कŐ टो मोमोटा (Kento Momota)

4. िवƃर एƛेलसेन (Viktor Axelsen)

Question ID : 65497843018

Status : Answered

Chosen Option : 4

Q.24 1992 के 74वŐ संशोधन अिधिनयम ने भारत के संिवधान मŐ एक नया भाग ______ जोड़ा।
Ans 1.  X

2.  IX

3.  VIII

4.  IX-A

Question ID : 65497844126

Status : Answered

Chosen Option : 2
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Q.25 िनɻिलİखत मŐ से िकस वषŊ मŐ भारत मŐ िŰिटशऔपिनवेिशक सरकार Ȫारा मॉȴ-फोडŊ सुधार įरपोटŊ
Ůˑुत की गई थी?

Ans 1. 1942

2. 1934

3. 1918

4. 1907

Question ID : 65497843212

Status : Answered

Chosen Option : 3

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842538

Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude
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Q.2

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843021

Status : Answered

Chosen Option : 1

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844142

Status : Answered

Chosen Option : 2

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843237

Status : Marked For Review

Chosen Option : 1
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Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843020

Status : Not Answered

Chosen Option : --

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843333

Status : Answered

Chosen Option : 1

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842620

Status : Not Answered

Chosen Option : --

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843234

Status : Answered

Chosen Option : 2
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Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842630

Status : Answered

Chosen Option : 1

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842615

Status : Answered

Chosen Option : 4

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844147

Status : Answered

Chosen Option : 2

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844136

Status : Answered

Chosen Option : 2
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Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842535

Status : Answered

Chosen Option : 4

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843446

Status : Answered

Chosen Option : 2
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Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842528

Status : Not Answered

Chosen Option : --

Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843239

Status : Answered

Chosen Option : 4

Q.17

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844139

Status : Answered

Chosen Option : 4

CICK TO DOWNLOAD : SSC CGL TIER-1 PDF NOTES

https://sscportal.in/study-kit/cgl
https://sscportal.in/ebook


Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843228

Status : Not Answered

Chosen Option : --

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843427

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843039

Status : Answered

Chosen Option : 3
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Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843041

Status : Not Answered

Chosen Option : --

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843231

Status : Answered

Chosen Option : 2
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Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842522

Status : Not Answered

Chosen Option : --

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843325

Status : Answered

Chosen Option : 4

Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844149

Status : Answered

Chosen Option : 2

Section : English Comprehension
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Q.1 Select the most appropriate synonym of the given word.

Monotonous

Ans 1. Eventful

2. Boring

3. Momentous

4. Compulsory

Question ID : 65497843263

Status : Answered

Chosen Option : 2

Q.2 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Shamim have not / attended school / for four days now.

Ans 1. for four days now

2. Shamim have not

3. No error

4. attended school

Question ID : 65497844357

Status : Answered

Chosen Option : 2

Q.3 Select the option that expresses the given sentence in direct speech.

She asked me what my favourite cuisine was.

Ans 1. She said to me, “What your favourite cuisine was?”

2. She said to me, “What my favourite cuisine is?”

3. She said to me, “What is my favourite cuisine?”

4. She said to me, “What is your favourite cuisine?”

Question ID : 65497842551

Status : Answered

Chosen Option : 4

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

I was angry / on myself / for making / such a silly mistake.

Ans 1. such a silly mistake

2. on myself

3. I was angry

4. for making

Question ID : 65497843248

Status : Answered

Chosen Option : 2
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Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A style of cooking food, characteristic of a particular country or region

Ans 1. Antique

2. Cuisine

3. Menu

4. Creche

Question ID : 65497843268

Status : Answered

Chosen Option : 2

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The dress may pleasantly be delivered to us at the earliest.

Ans 1. may kindly

2. must pleasantly

3. might kindly

4. No substitution required

Question ID : 65497843058

Status : Answered

Chosen Option : 3

Q.7 Select the most appropriate meaning of the given idiom.

Play with fire

Ans 1. To be courageous

2. To fight an opponent

3. To do something dangerous

4. To spread knowledge

Question ID : 65497842660

Status : Answered

Chosen Option : 3

Q.8 Select the correct passive voice form of the given sentence.

The Chief Minister inaugurated the new hospital.

Ans 1. My manager has assigned me a new project.

2. My manager is assigning me a new project.

3. I will be assigning a new project to my manager.

4. I am being assigned a new project by my manager.

Question ID : 65497843251

Status : Not Answered

Chosen Option : --
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Q.9 Select the INCORRECTLY spelt word.

Ans 1. Conscious

2. Opportunity

3. Disturbence

4. Genius

Question ID : 65497843270

Status : Answered

Chosen Option : 3

Q.10 The following sentence has been divided into parts. One of them may contain a
grammatical error. Select the part that contains the error from the given options. If you
don’t find any error, mark ‘No error’ as your answer.

This park is / the largest bird sanctuary / in the State.

Ans 1. the largest bird sanctuary

2. in the State

3. This park is

4. No error

Question ID : 65497842337

Status : Marked For Review

Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.

______ or not you allow me, I am going to the fair.

Ans 1. If

2. Whether

3. Until

4. Unless

Question ID : 65497844180

Status : Answered

Chosen Option : 2

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

Unable to express feelings clearly

Ans 1. Inarticulate

2. Eloquent

3. Affluent

4. Verbose

Question ID : 65497844178

Status : Answered

Chosen Option : 1
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Q.13 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Since setting up, the charity has raised a million dollars.

Ans 1. Since setting

2. No improvement required

3. From setting up 

4. Since being set up

Question ID : 65497842653

Status : Answered

Chosen Option : 4

Q.14 Select the most appropriate synonym of the given word.

Abandon

Ans 1. Retain

2. Possess

3. Quit

4. Rescue

Question ID : 65497843060

Status : Answered

Chosen Option : 3

Q.15 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. For example, the sound of footsteps followed by the slam of a door are like phrases
which convey some information.
B. In films, sound effects play the part of words.
C. We then know who is performing an action and why, and a clear picture is formed in
our mind’s eye.
D. Once the sounds are prefaced or followed by a dialogue, the sentence is complete.

Ans 1. DCBA

2. BCDA

3. BADC

4. CBDA

Question ID : 65497843059

Status : Answered

Chosen Option : 3

Q.16 Select the most appropriate ANTONYM of the given word.

Taut

Ans 1. Slack

2. Solid

3. Tight

4. Strong

Question ID : 65497842558

Status : Answered

Chosen Option : 1
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Q.17 Select the most appropriate meaning of the given idiom.

To hold water

Ans 1. To be unsteady and unsure

2. To be sad and depressed

3. To be valid and reasonable

4. To be large and deep

Question ID : 65497842560

Status : Answered

Chosen Option : 3

Q.18 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

I asked my friend / where had he / learnt to dance / so well.

Ans 1. I asked my friend

2. so well

3. where had he

4. learnt to dance

Question ID : 65497842542

Status : Answered

Chosen Option : 3

Q.19 Select the most appropriate ANTONYM of the given word.

Constrict

Ans 1. Choke

2. Cramp

3. Smite

4. Stretch

Question ID : 65497842658

Status : Answered

Chosen Option : 4

Q.20 Select the option that expresses the given sentence in passive voice.

Can you carry my bag upstairs?

Ans 1. Can my bag be carried upstairs by you?

2. Can your bag be carried upstairs by me?

3. Was my bag carried upstairs by you?

4. Could your bag be carried upstairs by me?

Question ID : 65497843048

Status : Answered

Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill in each blank.

Pollution is destroying nature. The smoke that is (1) ______ from the chimneys of the
factories, and from vehicles is the mixture of poisonous gases. Due to environmental
pollution, there is (2) ______ in nature, so, many birds, animals, and plants are on the verge
of (3) ______ day by day. The only way to (4) ______ environmental pollution is to plant many
trees. By planting trees, we can get rid of many harmful poisonous gases. It is the
responsibility of everyone to (5) ______ and protect our environment.

SubQuestion No : 21

Q.21 Select the most appropriate option for blank 1.

Ans 1. generated

2. absorbed

3. created

4. emitted

Question ID : 65497844162

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill in each blank.

Pollution is destroying nature. The smoke that is (1) ______ from the chimneys of the
factories, and from vehicles is the mixture of poisonous gases. Due to environmental
pollution, there is (2) ______ in nature, so, many birds, animals, and plants are on the verge
of (3) ______ day by day. The only way to (4) ______ environmental pollution is to plant many
trees. By planting trees, we can get rid of many harmful poisonous gases. It is the
responsibility of everyone to (5) ______ and protect our environment.

SubQuestion No : 22

Q.22 Select the most appropriate option for blank 2.

Ans 1. an imbalance

2. a difference

3. a balance

4. an inequality

Question ID : 65497844163

Status : Answered

Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill in each blank.

Pollution is destroying nature. The smoke that is (1) ______ from the chimneys of the
factories, and from vehicles is the mixture of poisonous gases. Due to environmental
pollution, there is (2) ______ in nature, so, many birds, animals, and plants are on the verge
of (3) ______ day by day. The only way to (4) ______ environmental pollution is to plant many
trees. By planting trees, we can get rid of many harmful poisonous gases. It is the
responsibility of everyone to (5) ______ and protect our environment.

SubQuestion No : 23

Q.23 Select the most appropriate option for blank 3.

Ans 1. survival

2. appearance

3. extinction

4. distinction

Question ID : 65497844164

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill in each blank.

Pollution is destroying nature. The smoke that is (1) ______ from the chimneys of the
factories, and from vehicles is the mixture of poisonous gases. Due to environmental
pollution, there is (2) ______ in nature, so, many birds, animals, and plants are on the verge
of (3) ______ day by day. The only way to (4) ______ environmental pollution is to plant many
trees. By planting trees, we can get rid of many harmful poisonous gases. It is the
responsibility of everyone to (5) ______ and protect our environment.

SubQuestion No : 24

Q.24 Select the most appropriate option for blank 4.

Ans 1. eradicate

2. radiate

3. introduce

4. sustain

Question ID : 65497844165

Status : Answered

Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill in each blank.

Pollution is destroying nature. The smoke that is (1) ______ from the chimneys of the
factories, and from vehicles is the mixture of poisonous gases. Due to environmental
pollution, there is (2) ______ in nature, so, many birds, animals, and plants are on the verge
of (3) ______ day by day. The only way to (4) ______ environmental pollution is to plant many
trees. By planting trees, we can get rid of many harmful poisonous gases. It is the
responsibility of everyone to (5) ______ and protect our environment.

SubQuestion No : 25

Q.25 Select the most appropriate option for blank 5.

Ans 1. preserve

2. neglect

3. ruin

4. destroy

Question ID : 65497844166

Status : Answered

Chosen Option : 1
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